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Integrals Involving Roots
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Integrals Involving Logarithms
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Integrals Involving Exponentials

J-e"‘dx = ée""
J.\/;e“"dx = é xe® +%erf(i\/a) , Where

2 x e
erf(x)=—=| e dt
=7,
J.xe*dx =(x—1e"
J'xemdx:(f_%]eﬂ
a a

J.xze”dx ="' (x* =2x+2)

2
[ e de= o (L_Lﬁéj
a a a
fx3e*'dx =¢'(x* = 3x* +6x—6)
a1
J-x"e‘“dx = (~1)" =TTl + n,—ax] where
a

T'(a,x)= J‘m t“teldt

T
J.e dx = *lﬁéff(lX\/E)

Integrals Involving Trigonometric Functions
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Integrals Involving both Trigonometric and
Exponential Functions
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Integrals Involving Hyperbolic Functions
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